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Benha University

Faculty of Engineering- Shoubra
Electrical Engineering Department
First Year Power

.,/;__\

LAV

Final Term Exam
Date: 29/12/2014

e Engineering

Duration : 3 hours

e Answer all the following question

o [llustrate your answers with sketches when necessary.

o The exam. Consists of two pages

e No. of questions : 4
e Total Mark: 100 Marks
o The first Page — 50 Marks

1.a) For the circuit shown in Fig. 1, Find V1 and V2 .

1.b) In Fig. 2, use the Superposition Thereom to find the current 1. (10 marks

1.¢) For the circuit shown in Fig. 3, Find:
between a and b to obtain the maximum power dissipated in it

2- The value of this maximum power

3- The value of RL to obtain half of the maximum power .

2) For the circuit shown in Fig. 4, Find:
2- The supply current

5- The power factor
power, reactive power and apparent power

1- The total impedance
4- The voltage across R2

(20 marks)

and the power diagrams for the total eqivalent circuit

1

|

4 onm(1)3A <

VVAN—®

|
1 onm (1)2A L
s 3

NS

Fig. 1
3 Ohm 1 Ohm
AVAVA AVAVAY
fz‘“’ 4 Ohm
<
<2 Ohm
s >5 Ohm

Fiaa 3

—_— 20V

T ‘—ﬁ

: I

<2 Ohm 1653 Ohm —/16\

1 ) 1

Fig. 2

< Rl=
3200 Ohm

B S
Q{, 400 V/50 Hz/0 Deg —_

I40uF
< R2=
<&

< R3 =
< 120 Ohm <100 Ohm

260 mH T 60 uF

A

Fundamentals of Electrical

8 mat

1- The value of RL to be connectec

(8 maj

2 ma

(2 marks)

3- The current in R
6- The total active
7- Draw the phasor, impedance



X

o
\6}-\1&8

th&o r OL'\O‘(&“LM @

R ~ 274, 6Ul

—\6'4‘(8 \\
XC%:BI\OXK T \ Cp= 294.36%

Inpadance digun (D

= - s’$S’~C\31N
@--Ifaal - - - — T s<g8 VA

®
fower g



